YEAR 11

1. 20 ml of 0.4M hydrochloric acid was needed to neutralise 40 ml of NaOH. How many grams

CHEMISTRY PROBLEMS

REVISION

of NaOH were added to the 40 ml of NaOH to make this solution?

HCl + NaOH - NaCl + H,0

\

2. 35 ml of 0.25M phosphoric acid was used to neutralise 15 ml of NaOH.

a.

H3PO4 + 3NaOH = N33 PO, + ZHzo

What is the concentration of the N&OH?

How many grams of water were produced?
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1. 20 ml of 0.4M hydrochloric acid was needed to neutralise 40 ml of NaOH. How many grams
of NaOH were added to the 40-m! of NaOH to make this solution?

HCl + NaOH - NaCl + H,0
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2. 35 mlof 0.25M phosphoric acid was used to neutralise 15 ml of NaOH. - = ©.Q0S u
HsPO, + 3NaOH - Na; PO, + 2H,0 —_—

a. Whatis the concentration of the NaOH? T f‘o\ha C&O;sé“
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b. How many grams of water were produced?
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